oFe 715 0] AL A AN G 2] BolE T5HAS,

>
> HEH 12.56.cm

(RATZFE 0] 7k )= (EH 9] A9 945F)
= 2x2x3.14 = 12.56( cm)
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100.48 cm?

5 Bopo R A7) Fo| AW ATl 2 Folx it FHel
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(AZFo19] Hol) =(EH =)x (&°I)
=(2x2x3.14)x8
=100.48 (cm?)




6. 179 AM=E HE 97159 BHlE FoHAL.

A0em)

6cm

[> HE . 345.4cm?

(27159 2Hol)= (BHol)x2+(dHl)
=(5x5x%x3.14)x2+10x%x3.14 X 6
= 157 4 188.4 = 345.4( cm?)
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® 6cm

B

27159 2ye))
(Rlol) x2+ (F4ol)olma

Eol=[ |=tstd

659.4 = TX7x314x2+2x7x3.14x[ ]
= 307.72 +43.96 x|

43.96 x| ] =351.68

DzS(cm)
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5x5x3.14x7=109.9x] |
549.5 = 109.9 x| ]

[ ]=5(cm)




(1) 6cm )
8cm
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\\ \
18cm 11cm
|
/I ”
P V) PN //
v v
=1 cm?

>
> HE T 1281.12cm?

£

(1) (B2 Wol)= 6 x 6 x 3.14 = 113.04( cm?)
(FHO] Yo]) = (6 x 2 x 3.14) x 18 = 678.24( cm?)
(BRol)= 113.04 x 2 + 678.24 = 904.32( cm?)

(2) (RH 2] Yol)=4 x4 x 3.14 = 50.24( cm?)
(2] Ho])= (8 x 3.14) x 11 = 276.32(cm?)
(BYol)=50.24 x 2 + 276.32 = 376.8( cm?)
Zylolo] g 1 904.32 + 376.8 = 1281.12( cm?)
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@D 6x6x3.14x6 =678.24(cm?)
@ 4x4x3.14x 15 = 753.6( cm?)
@ TxTxT7=2343(cm?)

@ 3 2429 FolE [ Jem 2} 5t

[ Ix[ Jx6=216,] |x[ ]=36,] ]=6(cm)

whatA BuE 6 x 6x 6 = 216(cm?) GU T

® Y] §gtz] 0] 15.7+ 3.14 + 2 = 2.5(cm)

o|B g Hul:25x25x3.14%x 6 = 117.75(cm?) YU o}




